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1.	 Venn şeması çizerek çözelim.

A B

C

.3

.4
.5

.6

.1

.2A / B

(A ∩ C) / B

(A ∩ B) / C

O halde A / C = {1, 2, 3, 6}
Cevap: D

2.	 A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C)
	 = {1, 3, 5, 7, 9} ∩ {1, 2, 3, 4, 5}
	 = {1, 3, 5}
s(A ∪ (B ∩ C)) = 3  bulunur.

Cevap: C

3.	 Venn şeması çizerek çözelim.
	 A

A – B

B

.3
.4
.5

.1
.2

B = {3, 4, 5}
Cevap: C

4.	 (A ∪ B) ∩ (A ∪ C)
= A ∪ (B ∩ C)
= {1, 2, 3, 4, 5} ∪ {1, 3, 5, 6}
= {1, 2, 3, 4, 5, 6}
s[(A ∪ B) ∩ (A ∪ C)] = 6  bulunur.

Cevap: E

5.	 s(A ∪ B) = s(A / B) + s(B / A) + s(A ∩ B)
	 11	= 4 + 5 + s(A ∩ B)
	 2	= s(A ∩ B) bulunur.

A

A / B
olur

(A ∩ B)

B / A

B

.4 .2 .5

Cevap: A

6.	 s(A ∪ B) = s(A) + s(B) – s(A ∩ B)
	 16	= s(A) + 14 – 13
	 15	= s(A)
Buna göre,
	 s(A) + s(A|)	= s(E)
	 15 + s(A|)	= 19
	 s(A|)	= 4'tür.

Cevap: E

7.	 n(A ∪ B) = n(A – B) + n(B – A) + n(A ∩ B)
	
	 24	= 9 + n(B)
	 15	= n(B)'dir.
	 n(A)	= n(B)
	 n(A)	= n(A – B) + n(A ∩ B)
	 15	= 9 + n(A ∩ B)
	 6	= n(A ∩ B)

Cevap: B



2

65.65.65.

TA
SA

R
I 

E
Ğ

İT
İM

 Y
A

Y
IN

L
A

R
I

80 8080 8080 80net‘de
ÇÖZÜMLER

8.	 A – (A ∩ B) = A – B
B – (A ∩ B) = B – A
Buna göre
	 n(A ∪ B)	= n(A – B) + n(B – A) + n(A ∩ B)
	 68	= k + 2k + k – 4
	 72	= 4k
	 18	= k
	 n(A – B)	= 18
	 n(B – A)	= 36
	 n(A ∩ B)	= 14
	 n(A)	= n(A – B) + n(A ∩ B)
	 n(A)	= 18 + 14
		 = 32  bulunur.

Cevap: D

9.	 A = {x /	 8 ≤ x ≤ 1260	 x = 4n	 n ∈ N}
B = {y /	 5 < y < 700	 y = 6k	 k ∈ N}
Buna göre,
A ∩ B = {z /   8 ≤ z < 700	 z = 12t	 t ∈ N}  olsun
A ∩ B = {12, 24, 36, …, 696} dır.

n(A ∩ B) = 12
696 12-  + 1

	 = 57 + 1
	 = 58 bulunur.

Cevap: C

10.	 A = {x /	 5 < x ≤ 100	 x = 2n	 n ∈ N}
B = {y /	 16 < y ≤ 120	 y = 3k	 k ∈ N}
Buna göre,
A ∩ B = {z /	 16 < z ≤ 100	 z = 6t	 t ∈ N}
A ∩ B = {18, 24, 30, …, 96}

s(A ∩ B) = 6
96 18-  + 1

	 = 13 + 1
	 = 14 bulunur.

Cevap: A

11.	 A = {x / x ∈ z	 1 ≤ x ≤ 50}
	 A = {1, 2, 3, …, 50}
B = {y / y ∈ z	 1 ≤ y2 ≤ 50}
	 B = {1, 2, 3, 4, 5, 6, 7}
Buna göre
A – B = {1, 2, 3, 4, 5, 6, 7, …, 50} – {1, 2, 3, 4, 5, 6, 7}
A – B = {8, 9, 10, …, 50}

s(A – B) = 1
50 8-  + 1

	 = 43 bulunur.
Cevap: D

12.	 A = {x / x < 100	 x = 2n	 n ∈ Z+}
A = {2, 4, 6, 8, …, 98}

s(A) = 2
98 2-  + 1 = 48 + 1 = 49

B = {x / x < 151	 x = 3n	 n ∈ Z+}
B = {3, 6, 9, …, 150}

s(B) = 3
150 3-  + 1

	 = 49 + 1
s(B) = 50
A ∩ B = {x / x < 100	 x = 6n	 n ∈ Z+}
A ∩ B = {6, 12, 18, …, 96}

s(A ∩ B) = 6
96 6-  + 1 = 15 + 1 = 16

Buna göre
	 s(A ∪ B) = s(A) + s(B) – s(A ∩ B)
	 s(A ∪ B) = 49 + 50 – 16 = 83'tür.

Cevap: E

13.	 K L
M

M ∪ (K ∩ L)   veya   (L ∪ M) ∩ K

Cevap: E
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14.	 A B

C

[(A ∩ C) \ B] ∪ [B \ (A ∪ C)]

Cevap: D

15.	 	 A B

C

(A ∪ C) ∩ B
Cevap: C

16.	 K = {x ∈ z	 x2 < 2}
K = {x ∈ z	 x2  < ñ2}
K = {x ∈ z	 x < ñ2}
K = {x ∈ z	 –ñ2 < x < ñ2}
K = {–1, 0, 1} dir.
L = {x ∈ z	 x2 < 18}
L = {x ∈ z	 x2  < ò18}
L = {x ∈ z	 x < 3ñ2}
L = {x ∈ z	 –3ñ2 < x < 3ñ2}
L = {–4, –3, –2, –1, 0, 1, 2, 3, 4}
Buna göre
	 L \ K = {–4, –3, –2, 2, 3, 4}
	 n(L / K) = 6'dır.

Cevap: D

17.	 A = {(x – 2	 ,    x + 3) :   x ∈ z}
B = {(–x	 ,    x + 3) :   x ∈ z}
	 x – 2	 = –x
	 2x	 = 2   ⇒   x = 1
A = {(–1	 , 4) :   x ∈ z}
B = {(–1	 , 4) :   x ∈ z}
A ∩ B) = (–1, 4) = (y, z)
	 y = –1 ,     z = 4
B = {(–x,   x + 3)	 x ∈ z}
C = {(–x,   7 – x)	 x ∈ z}
B = {(–2,   5)	 x ∈ z
C = {(–2,   5)	 x ∈ z}
B ∩ C = {–2, 5) = (t, w)

x + 3 = 7 – x
	 2x	= 4   ⇒   x = 2
t = –2  ve  w = 5   
O halde y – z + t + w = –1 – 4 – 2 + 5 = –2

Cevap: A

18.	 (A|∩ B) ∪ (A| ∩ B|) = A| ∩ (B ∪ B|)
	 = A| ∩ (E)
	 = A|

s(A) + s(A|) = s(E)
	 5 + s(A|)	= 20
	 s(A|)	= 15
Buna göre;
	 s[(A| ∩ B) ∪ (A| ∩ B|)] = s(A|) = 15'tir.

Cevap: B
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19.	 s(A – B) = s(B – A) = x olsun
s(A ∩ B) = 4     ve     s(A ∪ B) = 16
s(A ∪ B) = s(A – B) + s(B – A) + s(A ∩ B)
	 16	= x + x + 4
	 12	= 2x
	 6	= x'dir.
s(A) = s(A – B) + s(A ∩ B)
	 = 6 + 4
s(A) = 10  bulunur.

Cevap: E

20.	 A

5a ax

B s(A ∩ B) = x olsun
s(A \ B) = 5s(B \ A)
s(B \ A) = a ise
s(A \ B) = 5a  olur.

	 s(A)	= 4s(B)
	 5a + x	= 4.(x + a)
	 5a + x	= 4x + 4a
	 a	= 3x
Buna göre s(A) = 5a + x = 15x + x = 16x
x = 1 için A kümesinin eleman sayısı en az 16.x = 16 
bulunur.

Cevap: A


